2006/10/16

352

1 SROBWCEZR I,

(1) RDTZ 7 ZBDRERZITN IR I,

1
© y_§x2 @ y=x

(2) ylExD2RICHA T HREE T, x=6 DL = y=4 TH 5,

y Zx DATRLEETLY,

(B) ylExD2RICHHB T HRAE T, 24, 8) %#EA

y Zx DATRLETLY,

=2 DEZTDy DIEHEKRDLE I,
y=18 D& ZTD x DIEHEKDHTE I,

2 ROFAVZEZIL I,
(1) ylExD2RICHHT AT, x=2DEF y=—1 THD, y #x DA TRLGE I,

(2) ylExD2RICHA T BT, R(-2, 8) %@
y Ex DRTRLAEIL,

x="3DEZTDy DEZEKDIE T,
y=12 DEZD x DIEZRDIE T,

3) vy TxA I AD 5 ETHINT 5 & XOBILDESERDLE I,

(4) v T x A6 N5 8 ETHMT 5L IDELDHEERDE I,

5) Fffxﬁ-% giﬁﬁmbktﬁwﬁmwﬁﬁéiw£o

6) y=IX TxAPAG P2 ETHMT 5L TOELDEEHN 6 TLT, POEERDEIL,

(7) y=a’ TxM-12H 65 10 ETHEMmL Iz L ﬁWW’“TEODE\J/\%)\ TLTe a DEZKDHE I,

(8) y=3xXTxDEBMN-2ZxS5DE Dy DEFAEKRDLE IV,

9 vy= —x PTx DEFD-4SxS2DEFTDy DEFZEKDIE TN,

(10) y=2x" Tx DEFHN-1<x<3DEZTDy DEFHEKRDHL I,

FEEF Ak http://study.005net. com



2006/10/16

\ [
1 \ /
1) +=
1 \ /
2) y=§x2 \ /
(3) \ : /
1 \ /
y=5x*
y:2 - /O\ x
x=%6 / \
I )\
/ \
| \
[ \
| \
| \
| \
\
@)

2 ) y=—%x2 (2) @y = 2x2 @ y=18 @ x=xt6 ()18 @1 ()2 (6 p=—13

7) a:—% (8) 0Sy<75  (9) 8<y<-2 (10) 0<y<18

FEEF Ak http://study.005net. com



